
PIRLS 2011 released items: 
 
 
This document shows four passages of text and related items (or 
questions).  They are real items that were administered to Fourth class 
pupils who took part in PIRLS in 2011. 

 
Each passage and set of related items is shown in the format as seen by 
Irish pupils.  As well as the items, the correct answer is shown, and the 
percentages of pupils who answered the item correctly in Ireland and at 
the international average1. 

 

The passages shown represent a variety of presentation styles.  Two of 
the four were in the PIRLS Reader (the Reader contains only texts, and 
is accompanied by a separate answer booklet).  Another passage was 
based on a short brochure attached to the main test booklet, while the 
remaining passage was presented in the normal manner as part of a 
test booklet.  
 

Contents  
• PIRLS Reader (containing the passages Enemy Pie and The Giant 

Tooth) 
• PIRLS Reader Answer Booklet 
• Dayhike Brochure  
• Dayhike items 
• Fly Eagle Fly text and items. 

 
 
NOTE:  
If the responses and percent corrects for items are not clearly visible (in 
green and yellow boxes), you may need to change the default settings for 
viewing PDFs in your browser or to use a different browser.   

 

1 In a small number of cases, the international average percent correct has been alternately rounded up or 
down (so that, for example, 72.5% becomes 73% in one instance and 72% in the next), because more 
detailed information was not available at the time of writing.  
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Enemy Pie









A fossil is the remains of any creature or plant that lived on the 
Earth many, many years ago. People have been fi nding fossils for 
thousands of years in rocks and cliff s and beside lakes. We now 

know that some of these fossils were from dinosaurs.
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Correct:                  Ireland:    85%                        International:    71%                         

Pupil must show understanding that Tom considered Jeremy his enemy either because 
Jeremy did not invite him to his party, or invited Tom's best friend Stanley and not him.  
- Tom was not invited to Jeremy's party. 
- Jeremy invited his friend to his party, but did not invite Tom. 
OR, that Tom was afraid that Jeremy would take his place as Stanley's best friend.  
- Tom was jealous of him moving in next to Stanley. 
- Jeremy took his best friend. 

Correct:                  Ireland:   86%                            International:   70%                               

.    

Pupil must identify one of worms, earthworms, or rocks as an ingredient. Responses 
including any incorrect ingredients were not credited.  

Correct:                  Ireland:    83%                          International:    67%                         



A 
B 
C 
D 

2

1

Correct:                  Ireland:   59%                         International:    42%            

2 points: refer to emotion (surprise or confusion) AND a reason (because the pie smelled 
good or unlike he expected it to smell) 
- He felt unsure. Enemy Pie should smell bad. 
- surprised because it smelled really good 
1 point: refer to emotion OR a reason  
- confused 
- Enemy Pie shouldn't smell this good. 
- He thought it would smell awful, but it didn't. 

                2 points                                                             1 point 
  Ireland:  49%      International:  29%                Ireland:  16%      International: 21%       

Pupils must identify one of the consequences of eating Enemy Pie from the list below. 
- His hair would fall out. 
- His breath would stink. 
- He would go away. 
- Something bad would happen./He would get sick (or die).

Correct:                  Ireland:   88%                           International:  80%                                
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1

Correct:                  Ireland:  83%                             International:  71%           

2 points: identify both things: spend the [full] day with his enemy and be nice to him. 
- be nice to his enemy for a whole day 
- play all day with Jeremy and be friendly 
   

1 point: identify one of the things Tom was told to do 
- be nice 
- spend the day with him 
- play and be nice ('play' is too vague to merit a point)

                    2 points                                                            1 point                   
   Ireland:   52%           International: 46%           Ireland:  24%         International:  19%    

Pupils must show understanding that Tom had a positive experience with Jeremy (Tom 
enjoyed spending time with him, that he wasn't as bad as Tom expected, or that they 
had become friends) 
 - He was actually having fun with Jeremy. 
- They were getting along. 
- Jeremy wasn't so bad after all. 
- Jeremy was nice. 
- They became friends. 

Correct:                  Ireland:  86%                             International:  66%                                
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Correct:                  Ireland:  92%                           International:  76%             

Correct:                  Ireland:  76%                             International:  64%           
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Correct:                  Ireland:  64%                             International:  55%           

Correct:                  Ireland:  90%                             International: 79%            

Pupils must indicate that his plan for Enemy Pie was for the boys to become friends. 
- to make them be friends and not enemies 
- He wanted them to be friends. 
- to get them to play together and to make them friends 
- He wanted them to be friends so he got them to play with each other.

Correct:                  Ireland:  61%                            International:  50%                                



2

1

                 2 points                                                                        1 point                   
Ireland:  41%            International:  24%              Ireland:  27%                  International: 29% 

2 points: A plausible character trait that is central to his role in the story (e.g., helpful, 
caring, nice, good, smart, clever, tricky, secretive) AND sample action as evidence. 
- He was caring because he wanted to help his son make friends. 
- He was smart in how he found a way for the boys to like each other. 
- Tom's dad was kind. He thought of a plan for his son to make friends. 
1 point: A plausible character trait 
- He was a good dad. 
- He cared about his son.

Correct:                  Ireland:  45%                             International:  30%                                

Pupil response must indicates the importance of giving a relationship the chance to grow 
before deciding whether someone is your friend, OR  that it is possible to change how 
you feel about someone. 
- Don't judge someone before you know them. 
- You can make friends if you give it a chance 
- Your enemy can become your friend. 
-Try to like your enemy. They might become your friend. 
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Correct:                  Ireland:  82%                             International:  75%           

Correct:                  Ireland:  83%                             International:  71%           

Correct:                  Ireland:  62%                             International:  53%                                

Pupils must indicate that people believed in giants because they found huge bones/
skeletons/fossils (use of the term `giant bones' was not credited unless it was clearly 
referring to `big', not to the bones of a giant). 
- They found bones too big to belong to something they knew. 
- They found giant bones that were too big to be from the biggest hippo. 
- They found really big bones. 
- The bones were so big they must be from giants



1

A 
B 
C 
D 

A 
B 
C 
D 

Correct:                  Ireland:  65%                             International:  54%           

Correct:                  Ireland:  85%                             International:  68%           

Correct:                  Ireland:  26%                             International:  25%                                

Pupils must indicate he thought that some fossils belonged to animals that no longer 
lived on earth, had completely disappeared, or were extinct.  
• Fossils could be from extinct animals. 
• Some belonged to creatures no longer living on earth. 
• His idea was that some animals had completely disappeared! 
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Correct:                  Ireland:  73%                             International:  57%           

       % Correct      
Ireland:  41 
International:  34        

  
Pupils must refer to the large size of the 
fossil tooth (as big as an elephant's tooth) 

       % Correct      
Ireland:  22 
International:  15        

Pupils must indicate either that: 
1) the rock in which it was found was the kind 
of rock where reptile fossils were found / it 
was found where reptiles had lived OR 
the fossil tooth was similar to/looked like an 
iguana/reptile tooth
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Correct:                  Ireland:  66%                             International:  58%           

Correct:                  Ireland:  61%                             International:  57%           

Correct:                  Ireland:  39%                             International:  34%                                

Pupils must indicate that the iguana tooth provided evidence supporting his theory  
- The iguana tooth showed his fossil could be from a reptile. 
- It helped him find out what type of animal the tooth belonged to. 
- It gave him proof for what he thought all along. 
   

Or  Generally indicate that the iguana tooth looked like the fossil tooth.  
- The iguana tooth looked like the fossil tooth. 
- He could see that they looked the same. 
- It was flat and had ridges.



2

1

1

1

2 points: a) refers to changes in scientific ideas / people's ideas about the Iguanodon OR b) they 
illustrate the mistakes that Mantell or others might have made. 
a) Shows how people's ideas about what it looked like changed. 
b) To show that Gideon got some things wrong. 
1 point: a) how they look different  OR b) a difference between the two without reference to 
changes in scientific ideas OR c) explicit reference to one picture but not to changes in ideas  
a) To show they look different. 
b) b) One has 4 legs, the other has 2. 
c) That Gideon thought it had a horn. 

                          2 points                                                             1 point 
              Ireland:  16%          International:  10%         Ireland:   9%          International: 12%

       % Correct      
Ireland:  63 
International:  49        

 
The Iguanodon (sometimes) 
walked/stood on two/hind legs

       % Correct      
Ireland:  50 
International:  40        

  
The Iguanodon was 9 metres long

       % Correct      
Ireland:  64 
International:  48        

The Iguanodon had a horn (on its head/
face/nose) 
OR  
the spike was on its head/face/nose



Stop
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Correct:                  Ireland:  57%                             International:  52%           



Day Hike Brochure: 

The next reading unit presented is Day Hike Brochure, followed by the 
questions and percentages of correct responses for this unit.
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Correct:                  Ireland:  83%                             International:  76%           

Pupils must provide two acceptable reasons from the list below. 
- Plants/Nature         -Spectacular  views        - Remains of buildings   
- -Beautiful places    - Waterfalls                     - Forts 
- Hidden valleys        -Beautiful places           - Caves 
- New places              - Birds/ Animals/ Wildlife/ Nature  
- Any of the locations on the map (e.g., lookout station, picnic area) 

Correct:                           Ireland:  74%                                 International:  63%                     

Pupils must provide two suggestions; one about ability and one about interests. 
Ability: 
- Everyone should be able to do it. 
- Go only as fast as the slowest person in the group. 
- Choose a hike that suits everybody. [ability] 
Interest: 
- Choose a hike that suits everybody. [interest] 
- It should be fun and interesting for everyone. 
- Consider everyone when choosing where to go. 

                       2 points                                                                  1 point 
           Ireland:  16%        International:  10%            Ireland:   36%        International: 27%
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Correct:                  Ireland:  55%                             International:  55%           

Correct:                  Ireland:  93%                             International:  84%           

Correct:                  Ireland:  85%                             International:  74%           
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Correct:                  Ireland:  59%                             International:   62%          

Correct:                  Ireland:    64%                           International:  58%                                

Pupils demonstrate an understanding that someone can help you in case something 
happens (e.g., you get into trouble or lost) and you don't return on time. 
Examples: 
- Because if you are not back in time someone will know there is 
something wrong and will find help. 
- In case you get lost. 
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Correct:                  Ireland:   82%                            International:  72%           

Correct:                  Ireland:  69%                             International:  60%           
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1 

1 

1 

2 points: lists two pieces of information from the list below 
  

1 point:   lists one piece of information from the list below 
- time it takes for each hike 
- the difficulty level of each hike 
- symbols for each trail (route to take/which way to go/where it is) 
- a description of each hike 
- which hike is right for me/the best place to go 
- which is shortest, longest, or most challenging (or any specific facts 
about a particular hike from the table) 

                       2 points                                                                  1 point 
    Ireland:  50%        International:  41%           Ireland:  23%         International:  19%

2 points: pupils must list two reasons for choosing the route.  Reasons may refer 
specifically to the text in the map key or may refer to features of the map. 
  

Bird Walk. It is the easiest & shortest walk and you get to watch birds. 
Lookout Station. I think it would have the best views and it is the most 
challenging hike. 
Frog Creek Trail. You can take a picnic lunch. You can stop and see 
the birds at the bird sanctuary on the way. 
Lookout Hill Circle. You can make a loop past the old fort. It is longer 
so you can enjoy more sights. 
  

1 point:   pupils must list one reason, or two reasons that are essentially the same. 
Bird Walk. It takes two hours. It is the shortest.

                       2 points                                                                  1 point 
       Ireland:  40%    International: 33%                      Ireland: 31%      International:  27%



Fly  Eagle  Fly: 

The next reading unit presented is Fly  Eagle  Fly, followed by 
the questions and percentages of correct responses for this 
unit.



Fly, Eagle, Fly
An African Tale
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Correct:                  Ireland:   93%                            International:  89%           

Correct:                  Ireland:  79%                             International:  73%           

Correct:                  Ireland:  69%                             International:  64%           
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Pupils must identify two ways that the eagle chick behaved like a chicken.  A reasonable 
paraphrase of any combination of the list below is acceptable.  
  

1. It walks/moves like a chicken. 
2. It eats/pecks on the ground for food like a chicken. 
3. It thinks like a chicken. 
4. It won't fly (returns to the chickens on the ground). 
5. It scratches with the chickens.

                       2 points                                                                  1 point 
        Ireland:  68%        International: 56%               Ireland: 16%         International: 16%

Correct:                  Ireland:  92%                             International: 88%            

Correct:                  Ireland:  76%                             International:  70%           



2
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1

1

2 points: interpret the meaning of both parts of the quote in terms of the story.  
- It is supposed to be free in the sky and not stuck on the ground. 
- It is meant to fly, not walk. 
     

1 point: interpret only one part of the quote / make a literal contrast only. 
- It is meant to fly (first part of quote only) 
- It was not a ground animal (second part only) 
- It was not a chicken but an eagle. (literal contrast)

                     2 points                                                             1 point 
           Ireland:  54%        International:  42%           Ireland:  27%         International: 29%

                      2 points                                                             1 point 
  Ireland:  19%          International:   17%        Ireland: 37%           International: 36%

2 points: 2 reasons (or a reasonable paraphrase) from the list below. 
  

1 point:  1 reason from the list below.  
- To see the sun (rise)/to feel the warmth of the sun/to follow the sun. 
- To feel the updraft of the wind. 
- To be in its natural home/where it belongs/where it was found. 
- To get it closer to the sky/to get it higher.

Correct:                  Ireland:  56%                             International: 46%            
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2

Pupil identifies any of the words or phrases in the list below: 
  

1. Wispy pink clouds 
2. Majestically 
3. Golden brilliance 
4. Ablaze with light

2 points: One character trait and one example of actions that are evidence of the trait.  
 

1 point: One character trait or one example of actions that are evidence of the trait. 
 

1. He was determined. He kept trying to teach the eagle to fly. 
2. He was clever. He knew to take the eagle to the mountain to make it 
fly. 
3. He is the kind of person that doesn't give up. He went back to the 
farmer's house a second time to convince the eagle it was an eagle. 
4. He was kind to animals. He wanted the eagle to be free.

                          2 points                                                             1 point 
      Ireland:  46%          International:  29%            Ireland:  35%           International: 32%

Correct:                  Ireland:  71%                             International:  56%                                

Correct:                  Ireland:  72%                             International: 57%            


